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COST OF FPRODUCTION OF FADDY

CODES LIST
ERRDRVCDDé
b <= B.2 = b El
b <=> Q.3 = b E2
1,2 <=$ @.4 = b | E3
b =2 Q.S = b E4
b <=> 0.6 = b ES
b > 8.7 = b Eé&
b <=> Q.8 =Ab E7
b,<=} @.9¢a) =,b E8
.% 1 <=> @.2%(b) = b E?
=1e@— ow=b' E10
= P £=3B.10 = b El1
b <=> atleast one of the codes 011,191,201
’ 211 281 should not be blanh D1
b <=> do De
b & Acres < 1 ¥=> col.2 of codes 011,191,221 < S0  p3 ? 7
ﬁcm}' e~ Vo2 7\,\,..,\ Yy ced okt 191 22 56?,:\’ 2,,;1‘:0
1 ‘*> atleasf one of the codes 011,221,191 of col.2 pan <
T should not be blank. D4 A-f W
2 g=i alleast one of the codes 201-213 of col.? ;:
: K shbuld not be blank. QS :
3 €=> col.2 of code 221 should not be blank. D6
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. = . b
Q.6 = 1-4 <=> atleast one of the codes 181,184{%5},261 %
of col.2 should not be bIank. Y AIA ;
.6 = 3 <=> atleast one of the codes 231,241 of col.2
- - : should not be blank. D8
@.6 = 5 <=r atleast one of the codes 171,851 of col.®
should not be blank. Do
@.7 = 1 <=> col.2 of code 271 should not be blank. D10

8.7 = 3 “=> atleast one of the codes 0351,054,091,094, -
281,284 of col.2 should not be blank. D11

@.10 = 1 <=> atleast one of the codes 291,294,061 ,064 ﬂ
of col.2 should not be blank. D12 b

011,041,051,054,061,064,091,094
171,181,191,201,211,222,231,241 col.2 - 4 should
P51,261,281,284,291,294 not be blank D13

CODE

col.4 = b in code 011 <=3 cel.8,9,10,17,18,19,89
of code 022 = b Di4

col.4 = b in code 041 <

]
Ny

c0l.8,9,10,17,18,19,29

of code 042 = b D15
col.4 = b in code Q&1 <=> c01.8,9,10,17,18,19,29 E
of code Q&2 = b DA |
col.4 = b in code 171 <=3 c01.8,¢,10,17,18,19,29 ’ i

of code 172 = b DAl

col.4 = Db in code 181 «<=> cel.8,9,10,17,18,19,29
of code 182 = b DA2
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CHECE

col.4 = in code 191 <=
col.4 = in code 221 <=
col.4 = in code 231 <=
col.4 = in code 241 <=
col.a = in code 251 <=
col.g = ‘in code 261 <=
col.4 = in code 291 {=
col.4 = in code 064 <=
col.4 = in code 294 <=
col.4 = in code 031 <=
col.4 = in code 091 <=>
éai.Q = in codé Eél 4=

it D S S

col.8,9,10,17,18,19,29
of code 192 = b

col.8,9,10,17,18,19,29
of code 222 = b

» c0l.8,9,10,17,18,19,29

of code 232 = b

01.8,9,10,17,18,19,29

of code 242 = b

c0l.8,9,10,17,18,19,29
of code 252 = b

c0l.8,92,10,17,18,19,29
of code 262 = b

cel.8,9,10,17,18,19,29
of code 292 = b

col.8,9,10,17,18,19,29
of code Q&2 = b

c0l.8,9,10,17,18,19,29
of code 292 = b

» ¢0l1.8,9,10,17,18,19,29

of code 052 = b

col.8,9,10,17,18,19,29
of code 092 = b

» £0l.8,9,10,17,18,19,29

of code 282 = b
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ERROR CODE

P e

DA3

DA%

DAG

DAb6

DA7

DAB

DAY

DE1

DE2

BD1

Dp2

DD3



CHECK

col .4
ca1.4
col.4
col.4
col.4
code =
col;B

col.l1

col.?

col.1a,13

col.10

col.13,16

col.l17

col.20,283

it

it
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]

in

in

in

in

in

T4

b <=» col.11, 14

i

code

code

code

code

code

= col.26

“=>» col.28

094 <=3

284 <

20L -

211

053,063,093,103,104,112,113,122,123,132
133,152,153,162,1463,213,223,283,293,302
322,342,332 then col.5-7 should not be blank

b <=» col.l2, 15
b <=>col.27=b

> col.13,

s oool.2o,

col.26
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cel.8,9,10,17,18,19,29
of code 052

c0l.8,9,10,17,18,12,29
of code 092

g CC’I-B’Q’].(:),].?’18!19’29
of code

» c0l.8,9,10,17,18,192,8289
of code 202

co0l.8,9,10,17,18,19,289
of code 212

i

ERROR CODE

DD&
DD
X1
Xé:

X3

Xé
X7
X8
=
Ye
Y3

Y4




col.18 = b <=» col.21, 24 = b
col.21,24 = b <=» col.27 = b
col.19 = b <= col.P2,25 = b

col.22,25 = b <= col.e8

]
o

value column for code 363 = b

@.11 Mammoties in cél.1 then col.2 -~ 5 = b
.11 Sickles in col.l then col.2 - 5 = b

@.11 Plough in col.l then col.2 - 5 = b .
.11 Harrows in col.l then col.2 - 5 = b
Q.llqﬁuddlers in ceol.l then ceol.2 - 5 = b

Harvested Qty. = b & 300 < Harvested Qty, £ 4800
A
Where A = Acres + Roods + perches
4 160

Sales dty. = b <=» Price per unit = b

4]

ERROR CODE

Yg

Ye

F1

Fe

F3

Fo

F3

Fé6

F7

F8



